
www.amp-research.com 1/3 IM75415 rev 12.03.20

AMP RESEARCH TECH SUPPORT 1-888-983-2204 (Press 2) Monday - Friday, 7:00 AM - 5:00 PM PST

GM Silverado/Sierra 1500   	 2019-2021
(Short Bed Only) 

1

98

4 6

10 11 12

32

7

APPLICATION

13

Invented, engineered and manufactured exclusively by AMP Research in the USA. May be covered by one OR MORE of the  following patents: 
6,641,158; 6,830,257; 6,834,875; 6,938,909; 7,055,839; 7,380,807; 7,413,204; 7,398,985; 7,584,975;  7,566,064; 7,487,986; 8,157,277; 
8,408,571; 9,302,626; 9,561,751; 10,053,017; CA2463717  ©2012 AMP Research. All rights reserved. Printed in USA.

Torque wrench

13 mm

AMP PART 75415-01A

15 mm

5

T25

Extension

1

Components must be configured for Passenger or Drivers-Side as shown. 

Driver-Side Orientation

Using a 13mm Socket and wrench assemble the 
the lateral mounting bracket. Use bolts (#12) and 
nuts (#13). Note orientation of bracket. Torque 
bolts to 16 ft-lbs.

Passenger-Side Orientation



www.amp-research.com 2/3 IM75415 rev 12.03.20

15mm13mm13mm

Remove factory bolt in bed channel using 13mm 
socket or wrench.Use supplied M8 bolt (#10) and 
thread in approx. half way. Slide linkage assembly 
into place. Snug bolt up and allow linkage assembly 
to rotate side to side. 

Using supplied M8 hardware Bolts (#12) Nuts (#13) 
mount support bracket to inner bed panel and lateral 
bracket as shown. 

Using supplied M8 hardware Bolts(#12) Nuts (#13) 
and M10 bolt (#9) and nut (#8) mount frame support 
bracket to lateral bracket as shown.

Offset step pad forward and secure using provided 
PT Screws. Tighten to 5ft-lbs using a T25 Torx bit.  
Verify Step pad alignment to body line of vehicle. 
Once step pad is in line to vehicle torque all bracket 
hardware to  16ft-lbs.

T25

4

6 7

Assemble Linkage 
to bracket 
assembly using 
a 15mm Socket 
or wrench. Use 
supplied flange 
Bolts (#9). Torque 
Bolts to 20ft-lbs.

5

Using a 13mm Socket and wrench assemble the 
frame mount to the lateral mounting brackets. Use 
bolts (#10) and nuts (#13). Note orientation of 
brackets. Torque bolts to 16 ft-lbs.

32

13mm 15mm

13mm



www.amp-research.com 3/3 IM75415 rev 12.03.20

5 98

Verify step pad alignment to body line of vehicle. To deploy the step, press down using your foot 
on the outside edge of the step pad.

To retract, gently kick up on the underside of the step pad.



Thank you for your recent AMP Research Purchase.

REGISTER YOUR PRODUCT TODAY FOR 
FASTER SERVICE & PRODUCT UPDATES 

Please visit: 
www.amp-research.com/productregistration
or scan the QR Code

Product Registration Benefits:
• Ensure we have your purchase receipt and product info in our

system which is required for warranty
• Faster and easier access to customer service and tech support in

the unlikely event you need warranty or product support
• Registration helps us keep you up to date on product information

and offers 

To view other Amp Research products that may be offered for your vehicle. 
Please visit: www.amp-research.com

AMERICAN DESIGNED, ENGINEERED AND MANUFACTURED.

Rev 01.05.21




	75415_BS2_GM Silverado_short bed.pdf
	Bedstep Product Registration.pdf



